(En-0Ler)

o 0o\

\

PrIOVEO DAMM D

(E0-BLEF- LAV

TPYTOVED DM o

\Vj

S — >

D

Yy

—_——

AL

——

aLtk !

£000sn

ISu3] » UOTII3S-$$010 JO BarE = wsiid Jo amnjop

£

ST B[NUIAO

NAVIN TYLOL
el 12 91
9L € S1
Lb L P
24 6 €1
t+ s 1
14t 9 4
29 9 o1
o9 8 6
15 v 8
An y L
[T & 9
T 9 S
1€ 6 4
L 14 €
'Y 6 ¢
b 6 1
papiemy HIEIAL
NIBJA | WIMmrXepAf e

A[UO 28N S JPUIMEXT 10

y(q + ) m = wnizades) jo vary

4

i

"9 uoysanb 0] Jamsue 1ok ur pasn (UOTRIINWWOD
[eanewsyjew SUIPn[our) UONEIIUNWUIC) U iim Jo Ajenb
2Y] JUNCOJE 01Ul 9T} |[IM JUIWISSISSE 1Y) PIPUINIOL AIE IO &

‘uorsanb-j1ed 10 uorisenb
Yo JO PUS 3Y} Je S}oNORIQ Ul USAIT ST SYIBW JO JOqUINU Y[

*9]1[N[BD 0] payse

are 1o a1aym 9]qe1danoe aq Jou [[I4 SUOIN|os SUIMBIP 2[Eog
"3[BOS 0} UMEIp JOU ale SwWelderp ‘paje)s ssojun

-sjenadordde

Usym UOTIN[OS JO POYIdW INOK JO S[TBIaP A1 PMOYS N0

SALYAIANY)D 304 NOLLYINIOANI

PleserAE]
‘papraoid saoeds oy ut suotjsanb ay) [# Jomsuy

*o8ed s1y3 jo doj a1 1e seoeds ay)
Ul ISqWINU 2JRPIPULD PUR IOQUUNU 2IUID ‘SUIBU INOK LI

‘uad jurod-j[eq Jor]q Jo juI yoe[q 3s()
SALVYAIANYD OL SNOLLDULSNI

dHAdVd STHL 404
aQasN 39 OL LON
JAV SHOLVINITVD

sInNoyY m 1

¢10¢ 18qUISAON 9 'AVASINL NV

dJIL NOILLYANNOJ

I 43dvd

AYINIT - SOLLVINTIHILVIN
9 L A be coosey Y82
o Sarm

g 2 & 9 ™ 3509
0 SoWIBN] 18130
b e i




(E0-0iir) PITIVED DELM O “IIA0 BIN], (€0-0Le) PITOVED JAIM &

[el

a
g | 7 4 I IS

"0 uel) 12)e218 st Jey) Joquinu swiid So[[eWS ) UMOP LA (/) ~ m @ 1 _
i ‘91 JO 510998] 31 [[B UmOp AlIM  (f)
(n

~q N% 001 uwmumumuuﬂ._on. (1n)
(W coflt = 0o ALt A

"L66 x 9-pL JO onfeA 2Y) 10j Ajeuimysa uw puij ‘Fuppiom anof [[e Sumoqg  (9) @ 0 [ xﬁ. W

‘01 1s2de3u 2Y) 01 1021102 (1)

[i]
- = i 9ELE SMWM  (3)
1S LI6 = o [
l v 43
O . O O ‘6L PO ()f, Uoam)aq st JeY) § JO S[dnnuW ¢ Umop altip  (P)
[l

teonEn
0L

£or[q a1e sos81p 2y) jo afejusniad j1egM  (p)

€] t
(1]

611~ 82y Puld  (9)

OJ._qu.\.I
o L
(W ol o] = HIT VS cese 58

{SPIBD Jo yard [ JO 1509 2y SLIBYA

‘L6 PUE 58 1912301 PPV ()

“J9A0 3] [ SBY PUE SPIeo Jo syoed (] sAnq ag] [
'9)0U $F B PUB 20U ([ BSey wo  (2) ﬁ m

O WL P pval ind peatosa ORI

Hﬂ .ﬂh "SPIOM U1 JSQUITIT ST} TMOP ALIA
"8 Jo ndip su2) & seq pue Q[ uw1]) $59] 51 JBY) Iaquiny arenbs v umop ajLip (q) ‘90 €1 81 1adedsmau [eo0[ © 10] sajes A[yom ayr (m)
.. P

& if €S9
A m o 0\W '$2INF1J UL J2qUINT SIY) UMOP
iy "£79 81 12qUINU Sy Ul § 31} JO IN[BA 3Y) UMOP I, (D)  °T _— SIIM 'S80 901y AJY31a puE PIIPUNY A1) ‘PUBSIOY] XIS S|[¥S JaMpogjnuew 183y (1) (p) ]

1ouimexy| Iauruexy|



19 Ll

\f

LY

y

Ajuo

{eo-oicr) PIIOVED DA S

7=

DO

[l

‘sureideip
Bumo[10) 2y Jo yora ur umoys aur JySrens oy; jo oweu [epads oy} umop LM (q)

o] ()
V4

[e]

Joumexg

'saIns8y Fulmolo) Y1 Jo yoea jo aweu [eoads oy) UMOp SNIM

(o)

b4

sa00E0
nigr

(v

lw

Ajuo

1940 BINnj, t50-0uee) PITIVED DAIM G
ld. § -
: Ow w c Fﬁ) A0
- W
Ane = hWT*0l = Of]
‘Aepno ay) puiy
‘01 St PIOS 12qUnu 3y} Uaym 3pew st (8] Jo Jyead ® “UOISLI00 JayjouB U] (g)
d
Oﬂﬂwn
ol ~OXr7 "z

1ourmeyg|

‘017 S1 AB[IN0 oY) pUe (7 SI p[os Jaqumu 3y} udym Jrjoad Yyl puLy  (p)
Abj4no - 2 x pjos Jaqunu = 4ijoud

st s1oqutad Fuy[as Aq spew (3 uy) jyjord oY) 10y BAWIO) BYY, ‘¢



{7
(¢
(W

v
%)

D

Ajuo

(go-nger) PITOVED DFIM

._HMH ,,,,,,
_W>Q9 = aT1+*% ey ymyny ac¢
- L B |
e p
QT - 1™0) Qa\aw\u@,_ NG ATy
“IIMSUR INOA JO S)IUN 3] UMOP JLIM
‘adeys ay) Jo Bare ) Aenole)  (q)
6]

VINI G- a1t 1+ N+ 9 rord T

“adeys ay1 jo torowniad oyl aje[nofe)  (v)

3]DIS 01 UMDIP 10U WDISoIT

1 g

ol 15

A 9]

I

T

wog

w1

‘wesdelp
3y ur umoys adeys ay) ayew o} paoeld a1e ‘wog Aq woQ[ yoes ‘so[Furioar eanuept 8I1Y [ g

Jouexy|

o000
aLix

W

Ajuo
Iauueyy|

“19A0 waN,

[l

{0-0cer) PITOVED DM &

()]

@

'sualyed Buimol[og 21 Jo Yora uo AIjoWIUIAS JO Saul Ay [[B MBI (2)



lg
19
14

Koo

1oufumexg)

i)

(g0-0zer)

Pr1OVAED DA O

zdun 5~ t- yiaelikoy
% _\Sauw 9- - MODSOI
£ umop r - - Mo0FseD
m i w i € 0ju0I0]
g dn z - 108ueg
aunjeradus) 7 Aep uo 1 Aep uo %%
ur afuey) amjeradway amjeiadwsy

*a[qe ay1 ap3pduwro )

'skep 7 oY) usom)aq sxnjeraduia) jo aSueyd oY) .
‘skep juasajyp 7 uo Aeppiwt je samnjeradwal oy

‘sane[d JusIayy1p 241 10] ‘'SMOTS 21qe) BulMo[joj Y] °f

01

10

{d
v n

CALL

B000ED

“I3A0 _Hhﬂ-.u.. fg0-oLir) TPYIOVEI DBIM &

I & AR RN ol Eoich wlie

0
{4 £ aeelzcal " - Ybod_ad 4o

b} #ea) w0},

)

'
rgn- aomma j)..*. LA\BQTW .«JD()% }A- TW \oﬁ.m@s&gg

Ajuo
lonimexy

8.._:_“\ ownwILo ]
‘Buriom ok Jje moys 1SN Nog
‘punod 3soresu ayy 03 ‘diyy 2y jo idnd 1ad 1500 2y} HLVINLLSE

‘06¢F 1800 sas1q Ay
‘G163 St 1190U00 21 0] 513321 JO 1509 (810} Y T
"66°¢F 51500 [1dnd yoeo 105 youn| pexyoed

‘[1 1894 ut s[idnd g6 21@ 210y ]

"1120u00 € 0} 0F 03 [1dnd Yora 10} 1502 2y} jBWINSI O Payse usaq saey sfidnd [ Jeax

"uolISaND Sty) uj uoNLIIUNUOI Uil nod fo (pnb ay) U0 Passassp 3q jim nof

9



~

Koo
1outexg

{go-oLer) PYTOVEI DAMM D

[2]

yoed pay

youd
anjg

I

"§01005 2]qIssod 23 ]jz moys 03 2[qe) Suimoi[o] 2y} j9idwo)  (»)

*] 821008 19AR[d a7} pUB | = 7 — ¢ 1O S}IOoM

Jaferd oy3 “¢ s1 pes onjq Y} UO IqUINU HY) PUE T $I PIEO PAI Y] UO JAGUINU Ay J1 Ae[iw 5

"¢ $3100s 134”[d 3} pue £ = ¢ — g INO S}Iom

Jafeqd oY1 ‘g S1 PIBD SN[ 21} UO ISqUINY 3Y] PUE § SI pIBD Palay} uo Isqunu ay) ji ‘adurexs 1o
D

‘SIAQUINU OM] Y] UIMIA] S2UAIJJIP Y3 5t 3100s s.1ake(d ay 3poed anfq ay) woay

WOPUEI JB PIed 3UC pue yord pal 3y} Wol] WOPUEI 18 PIBD 2U0 s3so0yd Jakeld e ‘dwes & ug

peraquinu spIed 1noj sey yoed anjq Yy,

palaquinu spies Inoj sey yoed pa sy

Al

"anjq painojoa st jord 19410 Sy puw paz painojoa s1 yoed aug) 'spiea Jo syoed omj ale a1yl 6

(i

77
%

Kuo
JPurueyg|

“19A0 _u.—ﬁ._._ te0-aLer) Pr1OVED DATM
lm - = d
E VTVl \bhw.w *T 2 w0077
\fﬂi\Q.W = d&.ﬁ_ bQJ._O_ oL
“o131] 1ad saxj3wo[1y (f 10§ ‘vojjed Jad soqiw up ‘ajewS UB pUIY  (q)
7201201 < ~a0b$ oo
uopred 0L 09 0s Op 0g 0z 01 0
sod = + t t h i :
sajw

[e]

— - Lo Loz

i S 0 - - " - - .mN

a1 Jod wry

211 Jad

sarjawo[ry pue wof[ed 1ad sofrw uasmiaq yderd woISIoAUOD B MEIP 01 3[qE} 9Y) UI BIRP 9Y) 35()

Iz Tl 94 2111 12d sanjewopry

09 99 £l uo(ed 1ad sapin

"oy Jod sonowo[Ly ut sanjea ¢ Juipuodsaion

a4} pue uojjed tad ssqiur up wopdwnsuoo Sy} JOJ seN[EA JUSIJIP £ SMOYS 9[qEI Ay,

a031] 10d

$arj2WOR uf 10 uo[[ed 1ad s3I Ul PAINSBAW 9q ULH $3[O1Y2A Jo uendwnsuod [an) a4l (B) ‘g

I



(W
(9

Ajuo
Iourwexy|

[¢]

feo-oLer) PYTIIOVEI DAIM O

G 1 V33

\Wlﬁ\w

201 —

[€]

g3

03§ O] UMDAP Jou wniSvrcy

OR]
i

N

15 )= £} =
U o1
3DI§ 0] UMDIP J0u wWivL o1y
1
994

"X paytew 9[BuR Ay} JO IZIS Ay pul (M) pr

4!

v

W]..

(W

V|

(W

Ajuo
Jaunmexy|

“I9A0 wanjy, L] PITIVED DArM G
€
[l ., AL
A*

\fwmw od ks ]
TI7 = R-0%an] =30 wwyy

n

0917 - ol ROTL =\ Pazai

Qrnl = °t ¥t

91 p "

1 I
£ 2 osual SEraepd
1y01d payoadxs oy puyj *souo swed oy Aed spdoad 0Z€ Uy M

‘dpg st awed ay) Suruuim 10§ azrad ay ]
*oau0 awred oyy Aeyd o1 dgg sysoa 3
‘1 Jo 21005 ® BunyyeB Aq szud esum skeid v (g)

£l



£juo

(E0-nLer) TITAVEAI JAIMQ

il
o0
]3pou puE e AWIes 3y JO 18D PJo Jvak + 7 ® jo solad ay) ajewisy  (2)
1 N
\va(ﬁdd\
"weISerp 101180 3y) £ UMOYS UONL[21102 Jo adK) oY) umop AL (P)
il
"we1Selp 131180s 3Y) UO 31 1834 Jo 2ul € ‘9he Aq meiqg ()
[l .
sl
“I80 183p[0 3y} Jo douid o4y UMOp ALIM,  (9)
[1l

lol-2g) w

"1BD MU 2 Jo 201xd 2y} UMOp AIM (D)

PO 81834 Jo TaquInpy f :

r
ol =

Loooy I1 7~ #0007

000t

0009

e

F u1‘aong

19pow pue S3BUI SWES Ay JO §18D O] JO Yoea 10 23e pur 2a11d oY) smoys weIderp 1917108 oy A A

Jsupmexy

91

*1940 wIn],

[o]

i o=

fgo-ocer) PIIOVED DAIM ¢

~N )o

b

VIS O] UMBIpP Jou :..B...MB.HQ

]
(w5 ¢
| 0
uﬁ\ 3
(© E_,
¥ (‘e
b
e ST > &
P (R
XL 6 L ()
{
"D PUE g 'V PO{IRW §3011I3A 3Y) JO $3JBUIPIO0D 3Y) PUI]
"WRIFRIP Y] WO UMOYS 1B S3I[LIOA IN0J JO $3}BUIPIO0D L
- “swresfofa[jered [rONUapI 7 pue sojFURINLI [RANUADI 7 SMOYs weaSerp syy Iy
Jaunmexy|

sl



(eo-oLer) PITOVED DIMM O

“I9A0 wany, 1£0-0c%) PITOVED JI(M O

[€]

v R ~ -
(d £F 2ol
‘ajdoad
983y} 195 0] POpISU $I[qR] JO JAQUINU 5B 24} JOf ¥ JO SWLID) T UoIssaIdys ue oI

o
s7ess A3dwo ou are 213y ] ﬁ\ [€] M.\ JNN

'sajqe) jo aut] 3ySrens ¢ punoxe Funys ajdoad w 1w 2194y ()

FH+IE 7
[v]

) AEH L TEE (G TR EAC
_i eap1s 0 497 2 ~caor) .\a_o_ov.\x_ h9j I Rz £<qj = =

@+X)g=L-xc arjog  (3)

-
N0 Nnn npn . 1.7 X
£ AP et 2
T J i it
vV v ﬁ i \ﬁ ! \AN < ¢
ST=61+X 05 (p)
NN nnnN
lalel® @ S
_2 qm ol e VRV M VEVEY - R\
a2 ] (U A7 +.¢8N
2 & nﬂ (9 + X)Xz puedxyg (2)
7C 5 ] 2. AV ¥
2 yv vV m
idoad 91 1898 0) papasu sajqe) Jo Toquinu ISBI[ oY) Stieyp  (B) _:@ hw e vﬁ\\u..\ = 3 iw - i
“3ul] 2] w0 03 a9pa 07 a8pa Jeawu sAyqRY, X9 —,X 9suI0108]  (q)
“aul] )yStexis Juof e ut pooeld pue pauiof a1e s3[qBL.
'S11eYd pue s31qe) (1B Lyunwwos ayy Fuisn pastuedio Fuieq st Ared 190135 —Q n = \
‘Pua yoea je uossad | pue sapis 198uo] 3y3 Jo yora Suope sjdoad ¢ o) dn Jeas usd sajqel a haﬁ + .um% M m.- = HH nm. + .N.v»\ﬂ *\
o "SIEYD Jo Iaquinu 981e] B pur §3[qe] Je[niueios jo Jaquunu af1e[ v sey [y AIUNWWOd y p[ % ¢+ XpT ISL00BY  (p) ‘gl
juo
1onpuesy|

Jaunwexg

81 Ll



(@
4

9
9

(Y

(9

Ajuo
Joutwexy|

7|

f0-oLEr) PITIVAD JAM G

b4 ][a]|<|[¢||

'$3X0q 343 uj JopIo ul sraquinu 33p 3[3urs ok S1Im
‘SISQUUNU UIASS Y} PULY
"€ SI SIBQUINU USAIS JYI JO apow oY |,

'8 J0 98uel € pUE 9 JO URIPSW © SRy Ssaquunu JEip o furs UaAdg 9]

ZA% g

&0 A~
NDYVS T A"”‘-

" S1 pauleIqo sIaquInu oM} 2y} Jo wns ay} jeyl £njiqeqoid sy3 s1gmojeD)
*901p IIB] B MOI) YOBD UOWIS PUB Z0Y ‘S

a



PAPER 1 - FOUNDATION TIER

PAPER 1 (Non calculator) Marks FINAL MARK SCHEME
Foundation Tier A Comments
1. (a) (i) 6583 B1
(ii) thirteen thousand four hundred and six Bl
1.(b) 182 B1
1.(c) 309 Bl
1.(d) 72 Bl
1.(e) (i) 8740 B1
(ii) 8700 B1
1.(f) 1,2,4,8,16 B2 B1 for any 3 correct factors with at most 1 incorrect
number. Allow 1x16, 2x8, 4x4 or repeats in a list.
9
2. (a) 8 thousand(s) OR 8000 OR thousand(s) Bl BO for 1000
2. (b) 81 Bl | Accept 9x9 OR 9*, but 9 gets B0
2. (c) Tom spends £14 on cards M1
Each pack costs (£)14/10 M1 Allow this M1 only for (£)15/10.
Unsupported (£)1.50 gets 0
= (£)1.4(0) OR 140 (p) Al C.A.O.
2. (d) 25 (%) Bl ¥ OR .25 get BO.
2. (e) (74 OR750R 74.6 OR 70 OR 80) x 100 Ml Good estimates
= 7400 OR 7500 OR 7460 OR 7000 OR 8000 Al F.T their estimates for simple calculations
Answers only get M0, AQ.
2. (D 23 BI
9
3. (a) Profit=20 =24 — 150 M1 Correctly substituted shown by correct attempt to evaluate.
Must show that the substitution is 20 % 24 then — 150
=(£) 330 Al
3. (b) Outlay = 10x24—180 Mi For correct substitution with subtraction
=(£) 60 Al Allow embedded references to the correct answer.
4
4. (a) cone Bl Circular based pyramid gets B0
octagon Bl
(square based) pyramid OR rectagular based B1 Triangular pyramid gets B0, but pyramid gets B1
pyramid
4. (b) diameter Bl
tangent Bl
chord B1
4. (c) (i) All3 lines of symmetry B2 BT any one of them and no incorrect lines
OR 2 correct lines and up to 1 incorrect line.
(ii) BOTH lines of symmetry B1 B0 if any incorrect lines are drawn
9
5. (a) Missing side segment = 6 St This may be implied by some correct methods
Perimeter = 10+2+10+2+10+6+10+2+10+2 Ml Attempt to add all sides of the shape
= 64 (cm) Al C.A.0O.
5. (b) Area=3 x 10 x2 MI OR equivalent
=60 Al C.A.Q.
cm? Ul Independent of all other marks.
Watch out as the area of the 'gap’ is also 60.
6
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PAPER 1 (Non calculator) FINAL MARK SCHEME
. . Marks
Foundation Tier Comments
6. Finding the costs per pupil of tickets, bus and lunch
Cost of ticket per pupil = 915/98 = (OR 900/100) M1 Allow any method that implies estimating

=(£)9 Al Allow unsupported answers in the range 7-11 incl.
But if working shown then mark it.
Cost of bus per pupil = 290/98 = (OR 300/100) M1 Allow any method that implies estimating
=(£)3 Al Allow unsupported answers in the range 2-4 incl.
But if working shown then mark it.
Total cost per pupil = £9 + £3 + £3.95 = £15.95 Al F.T. if both Ms awarded
= (£)16 (to nearest £) Must be rounded to the nearest £
OR
Finding the TOTAL cost of tickets, bus and lunches /98
Total cost of lunches = (£)3.95 x 98 = (OR £4 x 100) M1 Allow any method that implies estimating
= (£)400 Al Allow estimated answers
Total for the trip =400 + 915 + 290 = (OR 400+900+300)
=(£) 1600 Al F.T. if M awarded
Cost per pupil = (1605 OR 1600)/100 M1 Allow any method that implies estimating
= (£)16 (to nearest £) Al
NOTE:
98 ~ 100 (£)3.95 ~ (£)4 (£)915 ~ (£) 900 (£)290 ~ (£)300 If no marks then SC1 for any 3 of these estimates
QwWC QwWC
Look for 2 QWC2 Presents relevant material in a coherent and logical
e Spelling manner, using acceptable mathematical form, and with few
e  Clarity of text explanations if any errors in spelling, punctuation and grammar,
e The use of notation — watch for *=",’£’, ‘p’ being
used appropriately. QWCI Presents relevant material in a coherent and logical
QWC2: Candidates will be expected to manner but with some errors in use of mathematical form,
e  present work clearly, with words explaining their spelling, punctuation or grammar.
processes or steps Opf . L. . .
AND Evident weaknesses in organisation of material but using
e make few if any mistakes in mathematical form acceptable mathematical form, with few if any errors in
spelling, punctuation and grammar and include units spelling, punctuation and grammar.
in their final answer . . L .
QWC1: Candidates will be expected to QWCO Evident weaknesses in organisation of material,
o present work clearly, with words explaining their and errors in use of mathematical form, spelling,
processes or steps punctuation and grammar.
OR
e make few if any mistakes in mathematical form,
spelling, punctuation and grammar and include units
in their final answer 4
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PAPER 1 (Non calculator) FINAL MARK SCHEME
: . Marks
Foundation Tier Comments
7. Toronto down 5 Bl If given as —S then B0, but allow B1 if Moscow is given
as -4
Glasgow —4 Bl
Moscow down 4 Bl
Reykjavik 7 B1
4
8. (a) Overlay
Plots P1
Line L1 A valid attempt at drawing a line/curve through the
points
8. (b) Any correct strategy, e.g. 2 times value at 20 MI Any correct method using graph or table.
kilometres per litre
56x2=112 Al | F.T. their graph.
Unsupported answers in the range 108 — 116 inclusive get
M1, Al.
4
9@ S5 3 0 D B2 B1 for at least 4 correct entries
31 (1 3) Negative numbers are errors in this table, but follow
(r1n 3 5 through, if needed in part (b)
(t 3) 5 7
(b) 2 (of 320) M1l F.T. their table. F.T. ‘their 7/16’ if a fraction less than 1
16 Sight of bone fide 140 in later working OR 140/320 gets
=140 Al M1, Al. Accept words *7 out of 16°, or “70 out of 160’
here.
Cost =320 x 50(p) OR Prizes = 140 x 80 (p) 1;\3/11 For either method and accuracy for cost OR prizes.
1 F.T. ‘their 140 provided it is clearly identifiable.
SilerioniE) OR. (BTt o) A0 for £16000 OR 160p OR 112p OR £11200
320 x 50(p) — their 140 x 86 (p) Ml F.T. full method (ignore units for the M1).
= £48 OR 4800p Al Rounded up or down figure if their 140 is not a whale
number
8
10. (a) Base angle = 66 B1 x = 66 with no working gets BIMO0AQ
x=180-66—-66 OR 114-66 Ml F.T. their 180~ 114
= 48 Al
10. (b) (180 —106)="74 Bl For finding 4™ angle. Also look in their diagram.
74 on its own gets this B1, even as y = 74
360-114-53-74 Ml Angle sum of quadrilateral. Note that 180 — 167 + 106 is
equivalent (114 + 53)
=119 (%) Al F.T. ‘their 74’
6
11. A(9,5) B2 B1 for each ordinate
B (26, —4) B2 B1 for each ordinate
€ (21,~13) B2 B1 for each ordinate. F.T. ‘their B + (-5,-9)’
6
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PAPER 1 (Non calculator) Marks FINAL MARK SCHEME
Foundation Tier Comments
12.(a) (£)6400 B1
(b) (£)2000 Bl
(c) Reasonable straight line of best fit Bl Some points above and some points below

Do not accept from ‘corner’ to ‘corner’ of the graph
paper

(d) Negative (correlation) Bl ‘
(e) FT from a line of best fit (reading accurate to small Bl OR an answer between (£)2600 and (£)3600 inclusive if
square)  (curved line or straight line, not dot-to-dot) no line of best fit.
H1 5
13. (a) 3(8x +1) B1 CAO
(b) x(x - 6) Bl CAO
(c) 2x* + 12x B2 B1 for each term. If B2 penalise further wrong work -1.
(d) x3=25-15 M1 Or alternate correct first step
x= 30 Al CAO. Accept embedded answers. Mark final answer.
F13 parts (a) to (d) are H4 parts (b) to (e) SCI for x=120 from x/3 = 40, OR
SCl1 for ‘ladder method’ showing -15, x3
() 5x—-7=3x+6 Bl | FT until 2" error
2x=13 Bl ORx=13/2
x=650R 6% B1 Must be simplified
9 SC1 for ‘ladder method’
14.(a) Strategy, shorter edges meeting (accept a diagram) S1 May be implied in later working that this is the
(Showing) 6 on longer sides (2 lots of 3) and | on each end Mi1 arrangement
OR idea end tables seat 7 people and middle table seat 6 people
(Number of tables is) (164—-2)+6 M1 Accept intention, not about notation
OR 2 correct trials with equivalent “x6 + 27 SC2 for 79 or SC1 for (164 — 6)/2
27 (tables) Al
Alternative:
Any 3 multiples of 6 shown or3 terms of a sequence
going up in 6s, or 164/6 or 164+6 81
27%6 =162 OR 27 remainder 2 OR 27.3(3.) M1
(this implies 81 also)
162+ 2=164 (seen or implied) MI
27 (tables) Al
Ar answer of 27 from working ‘27 remainder 2’ or
‘27.3(3..)° must be confirmed in order to award the final
M1, Al ( i.e. remainder justified), otherwise SCI instead
An answer of 27 (tables) without working is awarded SC3
(b) (n—2)+6 OR (n-2)/6 B3 FT misunderstanding longer edges joined leading to
(n-6)+2
B2 forn-2 6 or n—2/6 or -2 =6
BI for -2 or +6 in an expression
orn=6xtables + 2, orn=6xt + 2
H5 7 | BOfor x6+2 or nx6+2
15. Realising could be 2+2, 143, 3+1 B1 May be within a sample space diagram, e.g. sight of two-
way table with three 4s shown, or the appropriate additions
Realising 36 different outcomes OR  sight of 1/6 x1/6 Bl Maybe shown in a sample space diagram with
OR product of 2 terms both with denominators of 6 seen indication of 36, must be stated not implied
OR sight of a denominator of 36
3/36 or equivalent B1
Hé6 3 Ignore incorrect cancelling
16. If boxes are blank, mark the working
Middle card 6 Bl Smaller numbers to one side and larger to the other
Two cards (or three cards) 3 as the mode for their cards Bl 3 is the distinct mode for their cards
First card 1 and last card 9 (or in reverse) B1 OR any pair of single digit numbers (including
negatives) with a difference of 8
Correct answer 1 3 3 6 7 8 9 orin reverse Bl CAO
H7 4
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